What Is the amount of Japan's debt

compared tor the finances ol a household?




Public Finance in Japan
FY2015 Budget

Tax revenues + Non-tax revenues Total Expenditures Income from public bonds = Debts
¥ 59.5trillion ____¥__9__6_._:_3_t_r_il_li_o_r]____ ¥ 36.8trillion
— Primarys 72 9trillion = =
Expenses

( Local tax grants, g 5trillion)
etc. )

National Debt Service 23.4+trillion

Amount of public bonds ¥ 840 trillion

What is the amount of Japan's financial situation
based on fiscal 2015's general account budget

As a result of these accumulated debts,
at the end of the fiscal year--




If this were a household budget:--

monthly finances of a household

monthly income

¥ 50 thousand

Household's monthly expenditure

¥ 80thousand

¥ 60thousand
(Money sent home ¥ 1 3thousand)

¥ 20thousand

Family budget
Payment of loan
interest and principal

As a result of these accumulated debts,
at the end of the fiscal year--

3

Shortfall = Debts
¥ 30thousand

compared to the monthly finances of a household?



If this were a household budget:--

monthly finances of a household

monthly income Household's monthly expenditure Shortfall = Debts
¥ 80thousand ¥ 30thousand

¥ 50 thousand — Family budget ~ ¥60thousand = =
(Money sent home ¥ 1 3thousand)

Payment of loan
interest and principal ¥ 20thousand

If Japan was a household’'s with a monthly income of 500,000 yen,

As a result of these accumulated debts,
at the end of the fiscal year--




If this were a household budget:--

monthly finances of a household

monthly income

¥ 50 thousand

Household's monthly expenditure

¥ 80thousand

¥ 60thousand
(Money sent home ¥ 1 3thousand)

¥ 20thousand

Family budget
Payment of loan
interest and principal

As a result of these accumulated debts,
at the end of the fiscal year--

4

Shortfall = Debts
¥ 30thousand

the household's monthly expenditure would be



If this were a household budget:--

monthly finances of a household

monthly income Household's monthly expenditure Shortfall = Debts
¥ 50 thousand ¥ 80thousand ¥ 30thousand

— Family budget  ¥60thousand = ==
(Money sent home ¥ 1 3thousand)

Payment of loan
interest and principal ¥ 20thousand

800,000 vyen.

As a result of these accumulated debts,
at the end of the fiscal year--




If this were a household budget:--

monthly finances of a household

monthly income Household's monthly expenditure Shortfall = Debts
¥ 50 thousand ¥ 80thousand

—  Family budget  ¥60thousand = = ¥ 30thousand
(Money sent home ¥ 1 3thousand)

Payment of loan
interest and principal ¥ 20thousand

The household would have to loan 300,000 yen to cover the shortfall.

As a result of these accumulated debts,
at the end of the fiscal year--




If this were a household budget:--

monthly finances of a household

monthly income

¥ 50 thousand

Household's monthly expenditure

¥ 80thousand

¥ 60thousand
(Money sent home ¥ 1 3thousand)

¥ 20thousand

Family budget
Payment of loan
interest and principal

As a result of these accumulated debts,
at the end of the fiscal year--

4

Shortfall = Debts
¥ 30thousand

The cumulative debt would amount to a loan balance of



If this were a household budget:--

monthly finances of a household

monthly income

¥ 50 thousand

Household's monthly expenditure

¥ 80thousand

¥ 60thousand
(Money sent home ¥ 1 3thousand)

¥ 20thousand

Family budget
Payment of loan
interest and principal

As a result of these accumulated debts,
at the end of the fiscal year--

3

Loan's balance ¥84 million

Shortfall = Debts
¥ 30thousand

84 million yen.
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